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Ceedenue ypasnenus ¥ xK6a0pamHomy

a) cos2x = 11sinx — 5; 6) cosdx = 6cos?xz — 5; B) 4sin’2x + 3 = 4cos? z.

Odnopodnvie ypasHenus
a) 1 + 7cos?x = 3sin2x; 6) 2sin®2x + 3 cos4x — 4 = 5sin4x.
3eeadouku

a)* 6sinx — sinx cosx = 6(1 4 cos x); 6)* cos (2; — £> = 5sin (% — g)

Buipasicenus cos 2z, sin® x, cos? &, 1 % sin 2x xax npoussederua

Sin COS
1
B)* 2 2)

= - cosx;

a) cosx — sinx = 1 — sin 2x; > T sine 3

6) 4sin’ x cosx — 1 = cos .

Cymma (pasnocms) wemmwx cmenened
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6) sin®x + cos*x = sinz cosz; r)sin®x — cos®z = 5 cos” 2z — - cos 2z.

6

a) sin*x — cos?x = B) cos® x — sin® x = 2 cos? 2x;

Cymma (pazrnocmn) maneencos (Komarezercos)

a) ?"‘2511’123} :tgw+ctgw; B) tg2$—3tgw+4=3ctgm—ctg2w;

cosx — sinx

_ —1 g _ —
6) tgx + ctgx = 2 cos™ ! 4x; r)ctge —tgax = 0 5sinzs

omartraee 3ajjaHne

Pemure ypaBHeHUS:

a) cos 2x + sin’x = cosx + 2; n) 74 sin2x = 7sinx + 7 cos x;

6) cos2w+20coszg—|—3sin (m— 3777) =3; e)sin2x = V2 sin x;

B) 0,5 cos 4 = sin x cos ; &) (1 — cos 6zx) cos 2x = sin® 3;

r) sin4§ +5cosx + 4 = 0; 3) cos? (g + zc) = cos? (g — :c) + /5 cos z.

Pemmure ypaBHeHUS:

. . . . 1 . .
a) sin 2z sinx — 0,5sinx — sin2x = —3; ©) 2sin® ¢ — sin® x + 3 cos 2z = 0.
Pemure ypaBuenusi:
— oin3 3 .. 2 (3w _ 4 s o4
a) cos 2x = sin” x + cos® x; r) 1 + ctg 5 tx) =cos®x —sin” x;

6) sin2x 4 cos2x + sinx +cosx + 1 =0; x) sin® x — cos® = = 2(Sin4:c +cos*z) — 1;

B) sin® & + cos? x = cos? 2x + 0, 25; e) cos® x + sin®

Permure ypaBuenusi:

a) 2sin4x — 3sin® 2z = 1, r) tg(%—l—m)—l—tg(%—m):

0) 6sin (5 = §) + 0,35 (o = 5) =2 cost (5= 5)

B)2sin42w—3—|—55in4m:2(:0542:13; e)m—zmz

T = 15c052w— 1
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